# LICKING VIEW SANITARY IMPROVEMENTS

## CONTRACT 1-2023

### BID OPENING - SEPTEMBER 14, 2023 @ 10:30AM

Item No.	Description	Units	Bid Form Qty.	Zemba		Kendrick	
				Unit Price	Total Price	Unit Price	Total Price
1	201 - CLEARING AND GRUBBING	LS	1	\$7,402.17	\$7,402.17	\$0.00	\$0.00
2	202 - ABANDON MISC., JUNCTION BOX - DRAINAGE	EA	1	\$0.00	\$0.00	\$4,175.00	\$4,175.00
3	202 - PIPE REMOVED, 24" AND SMALLER - DRAINAGE	LF	1,100	\$15.41	\$16,951.00	\$45.00	\$49,500.00
4	202 - ABANDON MISC., EX. PIPE 12" AND SMALLER - DRAINAGE	LF	1,155	\$0.00	\$0.00	\$24.75	\$28,586.25
5	SS-832 (207) - TEMPORARY SEDIMENT & EROSION CONTROLS	LS	1	\$11,216.76	\$11,216.76	\$32,998.00	\$32,998.00
6	511 - CLASS QC1 CONCRETE, HEADWALL	CY	1	\$8,951.69	\$8,951.69	\$10,874.00	\$10,874.00
7	611 - 8" SANITARY SEWER PIPE, PVC SDR 35 (4-8 FT DEEP) (UNDER VEGETATION)	LF	880	\$78.69	\$69,247.20	\$97.95	\$86,196.00
8	611 - 8" SANITARY SEWER PIPE, PVC SDR 35 (4-8 FT DEEP) (UNDER ROADWAY)	LF	2,270	\$138.66	\$314,758.20	\$105.00	\$238,350.00
9	611 - 8" SANITARY SEWER PIPE, PVC SDR 35 (4-8 FT DEEP) (UNDER ALLEYS/DRIVES)	LF	2,680	\$128.23	\$343,656.40	\$100.50	\$269,340.00
10	611 - 8" SANITARY SEWER PIPE, PVC SDR 35 (4-8 FT DEEP) (UNDER ALLEYS/DRIVES)(TRENCHLESS)	LF	150	\$118.33	\$17,749.50	\$105.50	\$15,825.00
11	611 - 8" SANITARY SEWER PIPE, PVC SDR 35 (8-12 FT DEEP) (UNDER VEGETATION)	LF	3,150	\$86.58	\$272,727.00	\$140.95	\$443,992.50
12	611 - 8" SANITARY SEWER PIPE, PVC SDR 35 (8-12 FT DEEP) (UNDER ROADWAY)	LF	2,060	\$157.88	\$325,232.80	\$165.50	\$340,930.00
13	611 - 8" SANITARY SEWER PIPE, PVC SDR 35 (8-12 FT DEEP) (UNDER ALLEYS/DRIVES)	LF	2,180	\$162.43	\$354,097.40	\$165.50	\$360,790.00
14	611 - 8" SANITARY SEWER PIPE, PVC SDR 35 (12-16 FT DEEP) (UNDER ROADWAY)	LF	210	\$178.59	\$37,503.90	\$220.75	\$46,357.50
15	611 - 8" SANITARY SEWER PIPE, HDPE AWWA C 906 (12-16 FT DEEP) (UNDER ROADWAY)(TRENCHLESS)	LF	250	\$124.62	\$31,155.00	\$392.50	\$98,125.00
16	611 - 8" SANITARY SEWER PIPE, HDPE AWWA C 906 (12 TO 16 FT DEEP) (UNDER ROADWAY)	LF	60	\$231.85	\$13,911.00	\$248.50	\$14,910.00
17	611 - 8" SANITARY SEWER PIPE, PVC DR 18 (4-8 FT DEEP) (UNDER VEGETATION)	LF	350	\$95.78	\$33,523.00	\$98.00	\$34,300.00
18	611 - 8" SANITARY SEWER PIPE, PVC DR 18 (4-8 FT DEEP) (UNDER ROADWAY)	LF	760	\$156.91	\$119,251.60	\$121.95	\$92,682.00
19	611 - 8" SANITARY SEWER PIPE, PVC DR 18 (4-8 FT DEEP) (UNDER ALLEYS/DRIVES)	LF	420	\$111.36	\$46,771.20	\$121.95	\$51,219.00

### LICKING VIEW SANITARY IMPROVEMENTS

#### CONTRACT 1-2023

### BID OPENING - SEPTEMBER 14, 2023 @ 10:30AM

Item No.	Description	Units	Bid Form Qty.	Zemba		Kendrick	
				Unit Price	Total Price	Unit Price	Total Price
20	611 - 8" SAN. SEWER PIPE, PVC AWWA C 900 DR 18 (4-8 FT DEEP) RESTRAINED JOINT (UNDER ROADWAY)	LF	100	\$170.72	\$17,072.00	\$155.50	\$15,550.00
21	611 - 8" SANITARY SEWER PIPE, PVC SDR 26 (4-8 FT DEEP) RESTRAINED JOINT (UNDER ALLEYS/DRIVES)	LF	60	\$166.81	\$10,008.60	\$169.25	\$10,155.00
22	611 - 8" SANITARY SEWER PIPE, PVC DR 18 (8-12 FT DEEP) (UNDER ROADWAY)	LF	350	\$175.15	\$61,302.50	\$168.25	\$58,887.50
23	611 - 8" SAN. SEWER PIPE, PVC AWWA C 900 DR 18 (12-16 FT DEEP) RESTRAINED JOINT (UNDER ROADWAY)	LF	40	\$212.15	\$8,486.00	\$279.25	\$11,170.00
24	611 - 8" SANITARY SEWER PIPE, PVC SDR 26 (16-20 FT DEEP) RESTRAINED JOINT (UNDER ROADWAY)	LF	180	\$210.86	\$37,954.80	\$331.25	\$59,625.00
25	611 - 4" SANITARY SERVICE LATERAL, PVC SDR 35	LF	1,600	\$66.99	\$107,184.00	\$191.75	\$306,800.00
26	611 - 4" SANITARY SERVICE LATERAL, PVC SDR 35 (TRENCHLESS)	LF	300	\$67.76	\$20,328.00	\$130.50	\$39,150.00
27	611 - 6" SANITARY SERVICE LATERAL, PVC SDR 35	LF	220	\$68.40	\$15,048.00	\$195.75	\$43,065.00
28	611 - 6" SANITARY SERVICE LATERAL, PVC SDR 35 (TRENCHLESS)	LF	60	\$73.95	\$4,437.00	\$253.00	\$15,180.00
29	611 - 8" SANITARY SERVICE LATERAL, PVC SDR 35	LF	20	\$68.85	\$1,377.00	\$153.50	\$3,070.00
30	611 - 8" SANITARY SERVICE LATERAL, PVC SDR 35 (TRENCHLESS)	LF	110	\$60.57	\$6,662.70	\$267.00	\$29,370.00
31	611 - 4" FORCE MAIN, PVC DR 18	LF	100	\$131.54	\$13,154.00	\$49.75	\$4,975.00
32	611 - 4" FORCE MAIN, HDPE DR 11 (TRENCHLESS)	LF	380	\$68.53	\$26,041.40	\$36.95	\$14,041.00
33	611 - 48" DIA. MANHOLE (4-8 FT DEEP)	EA	58	\$4,559.93	\$264,475.94	\$5,099.00	\$295,742.00
34	611 - 48" DIA. MANHOLE (8-12 FT DEEP)	EA	23	\$6,199.90	\$142,597.70	\$6,167.00	\$141,841.00
35	611 - 48" DIA. MANHOLE W/ OUTSIDE DROP (4-8 FT DEEP)	EA	1	\$6,377.80	\$6,377.80	\$6,638.00	\$6,638.00
36	611 - 48" DIA. MANHOLE W/ OUTSIDE DROP (8-12 FT DEEP)	EA	1	\$7,647.81	\$7,647.81	\$7,841.00	\$7,841.00
37	611 - 48" DIA. MANHOLE W/ OUTSIDE DROP (16-20 FT DEEP)	EA	1	\$14,893.24	\$14,893.24	\$10,038.00	\$10,038.00

## LICKING VIEW SANITARY IMPROVEMENTS

### CONTRACT 1-2023

### BID OPENING - SEPTEMBER 14, 2023 @ 10:30AM

Item No.	Description	Units	Bid Form Qty.	Zemba		Kendrick	
				Unit Price	Total Price	Unit Price	Total Price
38	611 - 12" CONDUIT, TYPE A (PE WT PIPE PER 707.33)	LF	850	\$37.85	\$32,172.50	\$90.00	\$76,500.00
39	611 - 12" CONDUIT, TYPE B (PE WT PIPE PER 707.33)	LF	500	\$88.29	\$44,145.00	\$70.25	\$35,125.00
40	611 - 15" CONDUIT, TYPE A (PE WT PIPE PER 707.33)	LF	90	\$169.62	\$15,265.80	\$88.00	\$7,920.00
41	611 - 15" CONDUIT, TYPE B (PE WT PIPE PER 707.33)	LF	540	\$29.06	\$15,692.40	\$103.00	\$55,620.00
42	611 - 18" CONDUIT, TYPE A (PE WT PIPE PER 707.33)	LF	40	\$89.79	\$3,591.60	\$101.00	\$4,040.00
43	611 - 18" CONDUIT, TYPE B (PE WT PIPE PER 707.33)	LF	230	\$56.61	\$13,020.30	\$120.50	\$27,715.00
44	611 - CATCH BASIN, V-NOTCH W/ BICYCLE SAFE GRATE	EA	1	\$3,440.73	\$3,440.73	\$4,242.00	\$4,242.00
45	611 - CATCH BASIN, NO. 2-3 W/ BICYCLE SAFE GRATE	EA	9	\$3,440.73	\$30,966.57	\$3,574.00	\$32,166.00
46	611 - MANHOLE, TYPE 3	EA	2	\$3,390.45	\$6,780.90	\$4,345.00	\$8,690.00
47	614 - MAINTENANCE OF TRAFFIC	LS	1	\$19,341.26	\$19,341.26	\$28,028.00	\$28,028.00
48	623 - CONSTRUCTION LAYOUT STAKING	LS	1	\$21,791.74	\$21,791.74	\$44,844.00	\$44,844.00
49	624 - MOBILIZATION	LS	1	\$8,375.30	\$8,375.30	\$74,890.00	\$74,890.00
50	638 - 16" STEEL PIPE ENCASEMENT, ASTM A53 (BORED OR JACKED)	LF	109	\$431.41	\$47,023.69	\$765.25	\$83,412.25
51	659 - SEEDING AND MULCHING	SY	36,100	\$1.09	\$39,349.00	\$2.75	\$99,275.00
52	SPECIAL - GRINDER PUMP STATION	EA	2	\$21,834.94	\$43,669.88	\$30,725.00	\$61,450.00
53	SPECIAL - CONNECT TO EX. FORCE MAIN	EA	1	\$16,889.35	\$16,889.35	\$8,500.00	\$8,500.00
54	SPECIAL - 4" AIR RELEASE VALVE (FORCE MAIN)	EA	1	\$11,182.08	\$11,182.08	\$9,530.00	\$9,530.00
55	SPECIAL - SANITARY PUMP STATION - GRIEF ROAD	EA	1	\$582,463.58	\$582,463.58	\$513,692.00	\$513,692.00
56	SPECIAL - SANITARY PUMP STATION - KNOX ROAD	EA	1	\$567,545.08	\$567,545.08	\$511,695.00	\$511,695.00

### LICKING VIEW SANITARY IMPROVEMENTS

#### CONTRACT 1-2023

### BID OPENING - SEPTEMBER 14, 2023 @ 10:30AM

Item No.	Description	Units	Bid Form Qty.	Zemba		Kendrick	
				Unit Price	Total Price	Unit Price	Total Price
57	SPECIAL - WATER SERVICE LINE REPAIR	EA	20	\$354.89	\$7,097.80	\$824.50	\$16,490.00
58	SPECIAL - ORANGE CONSTRUCTION FENCE	LF	1,000	\$6.43	\$6,430.00	\$13.00	\$13,000.00
59	SPECIAL - GRAVITY SEWER AIR TESTING	LS	1	\$18,505.43	\$18,505.43	\$55,810.00	\$55,810.00
60	SPECIAL - FORCE MAIN PRESSURE TESTING	LS	1	\$7,402.17	\$7,402.17	\$1,725.00	\$1,725.00
61	SPECIAL - CCTV OF SANITARY AND STORM SEWERS	LS	1	\$32,092.12	\$32,092.12	\$317,134.00	\$317,134.00
62	SPECIAL - PRECONSTRUCTION VIDEO OF SITE	LS	1	\$1,116.71	\$1,116.71	\$7,500.00	\$7,500.00
63	SPECIAL - UTILITY POLE HOLD	EA	12	\$462.64	\$5,551.68	\$1,125.00	\$13,500.00
	TOTAL				\$4,390,056.98		\$5,404,782.00